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MASQIMEOIA IR 70,109,355 66,662,883 3,446,472
= 60,590,563
= 85,006
= 1,723,001
= 7,710,785
I E=INDAL] 11,065 12,165 21,100
201 ZEH2 ] 7,225 8,325 21,100
01 ArR2eltl 5,425 5,425 0
O ZERENYLFX Z2EH EH 7Y
465,000& #52] 2,325
O FZENYREN0| 02 S2OHA] 1,800
O ZZ=NYR B2 S(AAQIY ¥ 84
a ®ME S) 1,300
02 S22l 1,800 2,900 A1,100
O JIZ%3 S SXAN 2&2E 7Y 200
O ABIZALXIR (D) AEEH S|
= 1,600
202 04l 3,840 3,840
01 2L AL 3,840 3,840
O LoI=X YR ot 3,840
VEXEWEROCTES 64,706,914 62,122,203 2,584,711
= 58,236,223
= 1,294,138
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2A:

Ar2l = X 2t

M Lol=X =X
Rl MASToI MR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 5,176,553
301 EtE NS 64,706,914 62,122,203 2,584,711
= 58,236,223
= 1,294,138
= 5,176,553
01 Al EE AT Z(2DEXR) 64,706,914 62,122,203 2,584,711
O JI=skH 64,706,914
= 58,236,223
& 1,294,138
= 5,176,553
COIStE SSAHIA A 3,363,343 3,069,118 294,225
= 2,354,340
< 363, 1561
s 655,852
307 glztol & 3,363,343 3,069,118 294,225
= 2,354,340
== 353, 151
[Ea 655,852
05 2ItRIE = 3,363,343 3,069,118 294,225
O LoXESSMUIAAY 2I2IREF 3,363,343
= 2,354,340
=S 363, 151
s 655,852
LoIStE SSAMHIA AP (XHA 303,760 303,760 0
307 212+01& 303,760 303,760
11 AMEISXAEEES 303,760 303,760
O OiB0lg L& 10,000,000& *13] 10,000
O LoXE=SMEIA +8lols S|
150,000 *153& 1201 & 275,400
O LoXES=SAHIA =308 Sl
10,0002 %153+ 12042 18,360
SHEQ 02 S=HE ots MHIA 170,012 110,660 59,352
= 85,006
s 85,006
101 @124H| 47,372 31,234 16,138
= 23,686
= 23,686
MU IIRIMZZENSES 47,372 31,234 16,138
O SAHL Mol s3aciLd 12| 42,572
= 21,286
o 21,286
O &0 200,000 «12& ~2H 4,800
[ 2,400
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2A:

X XH -
o=

NE=IEE=DN I
LoIsXSA
HAS L OIMSOIR 1|2

=9l MASEeldactdnd EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,400
201 et 3| 122,640 79,426 43,214
[ 61,320
[Ea 61,320
01 At22telt] 122,640 79,426 43,214
O SHEQ Yool SSAHAALE AL
gl gxt= 122,640
= 61,320
= 61,320
HESHE HMAS THIOH=Q! AAHHE (ZH]) 163,800 147,420 16,380
= 40,950
o 122,850
307 @I2t01 & 163,800 147,420 16,380
== 40,950
o 122,850
11 AMRISXAEEES 163,800 147,420 16,380
O HSSEMAS Tt AAHHHE 163,800
< 40,950
s 122,850
HESSE MAS MOl AAHE 37,211 36,612 599
307 el2to| & 37,211 36,612 599
1 AMEISXAIEEES 37,211 36,612 599
O Motz AAHHE RHRSAHAL RF4] A
2 12,600
O S2ZAME Xc2ld 228] X
12,305,280 *20H 2 24,611
RSIZAE(EH]) 128,250 114,000 14,250
= 32,062
= 9%, 188
307 elztol & 128,250 114,000 14,250
= 32,062
Ea 9,188
1 AMISXAIEEXS 128,250 114,000 14,250
fRIZNEG XNE 128,250
=S 32,062
s 9%, 188
fRIEEANE 5,000 5,000 0
307 elztol & 5,000 5,000
02 IHB A HE L 5,000 5,000
O 423 2Z=24Y A
5,000,000 * 174 2~ 5,000
HESSEH2A 2HE x| XA 9,000 9,000 0
= 2,700
o 6,300

@




FA SIS
M Lol=X =X
Gl MASL MBI TR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 9,000 9,000 0
= 2,700
= 6.300
03 AR 2EHLFS(XLMHE) 9,000 9,000 0
O As=sE0zd 22| K&
150,000 *60H 9,000
=S 2,700
s 6,300
32 5= & 0/0I8H] XEAME 1,200,000 720,000 480,000
301 2eEN= 1,200,000 720,000 480,000
02 MBI 2HHSFHS(HAANS, KLHE) 1,200,000 720,000 480,000
O Z2 == 4 0/012H] XIZAE
100,000&%12,000& 1,200,000
100MI 0124 XIRAALS 11,000 11,000 0
201 fer23| 1,000 0 1,000
01 AtR2t2|HI 1,000 0 1,000
O 100Ml 22 HotAlE 2578 S 1,000
307 @I2t01 & 10,000 11,000 21,000
11 ARRIS XA E X 10,000 11,000 21,000
O 100Al 2t=22Z =otAIY 10,000
Ol AR &0 =HTHAIR 11,838,553 8,704,196 3,134,357
= 5,557,739
s 2,319,422
s 3,961,392
Lolo] & HAKKIE 40,640 40,640 0
201 2= 2,640 2,640
01 At22t2l] 2,640 2,640
O elo & HEH S MA
120,000 ~22& 2,640
307 elztol & 38,000 38,000
1 AMEISXAEEXS 38,000 38,000
O Lolo 2 J1ga & stitS=H Xd
38,000,000& *12] 38,000
colliel & A 2SI AL 11,115,478 8,065,056 3,060,422
= 5,557,739
= 2,223,0%
[Ea 3,334,643
101 @12A4H| 845,350 787,050 58,300
= 422,675
= 169,070
= 253,605
M ORINZZE2NSE S 845,350 787,050 58,300
O QNS 2SRIAAY HOAF AABI(S3
olEs) 290,000 «265H x 112 845,350
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2A:
X XH -
o e

=aak

Ar2l = X 2t
ESSIE-INEFS]
Lol AtlE X

S - B

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

HoH W

422,675
169,070
253,605

Mo W

47,700
23,850

9,540
14,310

47,700

180,000 x265H

MW

47,700

47,700
23,850

9,540
14,310

47,700

307 212t01 &

MW

10,222,428
5,111,214
2,044,486
3,006,728

7,220,306

3,002,122

MW

10,222,428
10,222,428
5,111,214
2,044,486
3,006,728

7,220,306

3,002,122

o

AILIOIZE 22 Al

Mo

338,640
35,592
303,048

328,640

10,000

307 212t01&

M

338,640
35,592
303,048

328,640

10,000

10 Al SXIAIEEHE2

H o H
O AlLICIZ" 2EX

82X

o 02

Jm

B A
=2T

[

ol

O LoI=XIAIZ(ALIHSE) SALX

A

M

338,640
330,000

33,000
297,000

8,640
2,592
6,048

328,640

10,000

gt ol3 X (&Hl)

A H

182,933
60,734
122,199

191,010

A8,077

307 212t01d

M H

162,933
40,734
122,199

159,010

3,923

162,933

159,010

3,923
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2A:

Ar2l = X 2t

HH: Lol=X|SH
St 01 ABIE0 =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Alz =013 S 435t X2 A 162,933
= 40,734
= 122,199
402 2IZtA=01d 20,000 32,000 212,000
=S 20,000
02 QI X2 AL EE(OIETHE) 20,000 32,000 A12,000
O tetcels N&E2Xe EYE wMISA 20,000
= 20,000
CHstcolsl X3 160,862 88,850 72,012
307 glztol & 160,862 88,850 72,012
03 M EE2SHIEX 78,650 44,800 33,850
O Oiet=2l3 = A2 294 XA
61,850,000 * 104 2 61,850
O Uete2ls 53 23 2434l N3
1,200,000 * 1474 4 16,800
11 AMRISXAEEES 82,212 44,050 38,162
O Zsis s X
35,972,000 * 10 2 35,972
O LXNEXN E S 10,000
O Ueteolgsdal 52 22208 1
A& 19,650
O 8¢ Z2€ F0bts gAHu=s N 12,740
O AoIE=Z U=l M=l XA 3,850
M22 2223 33 806,034 702,089 103,945
=29 § 29 221,250 134,750 86,500
201 er23| 800 23,300 22,500
01 At2teltl 800 23,300 A22,500
F29 ¥ 222 MA S 800
202 048l 450 450
01 2L A 450 450
O F29 & 298 N=EZ 450
307 212+01& 120,000 111,000 9,000
5 QI2tRIE = 120,000 111,000 9,000
O %29 3 29 X
120,000,000 * 104 2~ 120,000
401 AlEHIZ 2018 90,000 90,000
01 Al&H| 90,000 90,000
O F2o & U2 288 sA
90,000,000 *1IH £ 90,000
405 AtatE=H 10,000 10,000
01 TR =SFISHI 10,000 10,000
O =2od dd)| 2
5,000,000 ~2CH 10,000
MY 29 360,994 299,800 61,194
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FA SIS
M Lol=X =X
=2l M22 ZR2s 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 800 800
01 At2teltl 800 800
O AHZNAE 2225 MA S 800
307 el2to| & 250,000 222,000 28,000
05 212+ =S 250,000 222,000 28,000
O D% ZE2&NAE AL 983
134,000,000 * 191 2 134,000
O 28 =52 NOZ A& 93
116,000,000 * 14 2 116,000
401 Al HIZL 201 110,194 77,000 33,194
01 Al&H| 110,194 77,000 33,1%4
ZESNNEY =25 AT FHIAMY
50,000,000 *1IH 2 50,000
O EAIE ==Fd| 30,000,000 *14! 30,000
O =F=Add JIs2d At 22,000
— =2 &Hd| At 22,000,000 * 14| 22,000
O =F=AAE NSSA HISFIHIZS
8,193,810&*12 8,1%4
N ZHSEEAE 147,870 186,619 A\38,749
308 AFARIEHMSOIE 147,870 186,619 A\38,749
07 MK A2 E = 147,870 186,619 A38,749
O NE? ZATHAIAL 29U 2L2
147,870,000 * 14 2 147,870
sE s N2 30,000 30,000
301 EtE NS 30,000 30,000
14 JIEt2d=3 30,000 30,000
O s&dels 30,000
SsSHEA 2 SEEX 29 45,920 50,920 /5,000
101 @124H| 40,000 45,000 /5,000
04 JIZtNZ22 NS+ 40,000 45,000 /5,000
O 22X M=xY 2y
160,000 » 102 2500 A 40,000
201 223 5,020 5,020
01 At22t2lt] 2,400 2,400
O S&R2X 22Hl S
600,000 x4JH 2 2,400
2 5234l 2,620 2,620 0
O S4B dote= & HIINEE S
1,180,0002 %14 1,180
O S&RA o34 HId¥ R S
60,0003 122 200 2 1,440
202 04| 900 900
01 2LHoIH 900 900
O BEXZAL & SE=0 dexa 900
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FA SIS
M Lol=X =X
el ZSXAEEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LoISIANE2d 8,609,678 8,083,811 525,867
= 142,500
== 1,902,326
[Ea 6,564,852
DET ABISAAE 2 (- ASEAIEISR2) 1,796,235 1,677,305 118,930
307 elztol & 1,796,235 1,374,305 421,930
05 2IZtAE = 1,796,235 1,374,305 421,930
O DEZ MISXAE(QISEAE =SR2
) FIES 1,796,235
LoIsX2 2EAE 83,689 77,941 5,748
= 20,518
o 63,171
307 @I2t01 & 83,689 77,941 5,748
s 20,518
s 63,171
10 Al2ISTIAEEE2HIEX 83,689 77,941 5,748
O Lo=X2 SAHL SE8 21,240
[ 6,372
T 14,868
O LoIYES 2SHY AMBIA 2elAb 31,861
= 9,558
[Ea 22,303
O o= HAZZ 0 22 30,588
s 4,588
s 26,000
A2l =SR2 2SR 22,480 42,219 A19,739
= 6,044
= 16,436
307 elztol & 22,480 25,840 23,360
= 6,044
[Ea 16,436
10 Al SXAAEEHE 22X 22,480 25,840 A3,360
O At2ISA2 SAHL S48 15,480
= 4,644
o 10,836
O MEEX2 NE=EX=E20 7,000
[ 1,400
T 5,600
DEZ LoIQAR 2o 90,000 105,000 A15,000
307 elzto| & 90,000 90,000 0
10 Al SXAAEEHE 22X 90,000 90,000 0
O NEFZLQAR SAL SESE 90,000
Motel SXAIE X3 3,006,578 2,992,978 13,600
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2A:

Ar2l = X 2t

M Lol=X =X
el ZSXAEEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 311,767
s 2,694,811
301 EtE NS 2,951,030 2,941,030 10,000
= 295,103
= 2,655,927
01 Al EE AT Z(2DEXR) 2,951,030 2,941,030 10,000
O MIBHHE 2,951,030
= 295,103
o 2,655,927
307 @12t0| & 55,548 51,948 3,600
< 16,664
[Ea 38,884
10 Al2IS XA EEE 22X 55,548 51,948 3,600
O =olHoNEE 28 XA 49,788
= 14,936
= 34,852
O MISAAIE SALL SE+¢ 5,760
= 1,728
o 4,032
CRlMEAIERIA 2,104,125 2,106,285 A2,160
< 1,464,247
[Ea 639,878
301 2eEN=S 2,082,525 2,082,525 0
S 1,457,767
= 624,758
01 AR HSFS(RRNEERTHE) 2,082,525 2,082,525 0
O ANE30iUE= 2,082,525
= 1,457,767
[Ea 624,758
307 @120l & 21,600 23,760 A2,160
s 6.480
s 15,120
10 Al2ISTIAEEE2HIEX 21,600 23,760 A2,160
O LQIUSAESAA S84 21,600
< 6,480
T 15,120
DHEESHIS RSN HSAS 1,006,571 1,006,571
401 Al HIZ 2018 1,006,571 1,006,571
01 Al&H| 1,006,571 1,006,571
O Le=Exz 2a x4(edeld s) 1,006,571
NEZ AMB=XE2 =1 &4 200,000 200,000
401 Al HIZ S OHbI 200,000 0 200,000
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2A:
PSER
o e

el

Ar2l = X 2t
ESSIE-INEFS]

LRISXAEEE

SN - BB SR(SIH) - KNISAY - B

Ofl &F2H

MEE
Ofl &k2h

200,000
200,000

Mo W

300,000
142,500
99,750
57,750

300,000

401 AIZHIZ 20

HH W

300,000
142,500
99,750
57,750

300,000

HoH W

300,000
300,000
142,500
99,750
57,750

300,000

LOINIIEXIAIE 29

HoH W

3,381,780
733,258
382,427

2,266,09%

3,378,369

3,411

MW

1,466,515
733,258
146,651
586,606

1,305,268

161,247

307 212+01™

Mo W

1,466,515
733,258
146,651
586,606

1,305,268

161,247

10 MEISXAIEEE 2]

O Z2g s2J| |

HT
kA

>

40

O gd=2¢g 42l N

o)
Jy

O gd=2¢g 2=l J&

0.

Mo Mo W

Mo

1,466,515
1,135,900
567,950
113,590
454,360
202,620
101,310
20,262
81,048
127,995
63,998
12,79
51,198

1,305,268

161,247

M

1,281,700
235,776
1,045,924

1,377,860

A9, 160
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2A:

X XH -
o=

Ar2l = X 2t

NASFHAASKA

EFPl: HOHQIMEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Hofel2ted HR=A AR 2el] 1,500
2 s5=34l 3,821 3,821 0
O ZU=XIHE SIISE U5
3,820 +80021 3,056
O HHAF=XEEAGLE UEHE DA
gs 2 gs 2,550 30021 765
202 04l 5,000 5,000
01 2LHoIH 5,000 5,000
O HHI=XAYE SR 04| 5,000
ZoHele=Hl K& 210,078 312,180 102,102
= 168,062
& 29,411
= 12,605
308 XXM SO0l 210,078 312,180 A102,102
= 168,062
< 29,411
[Ea 12,605
13 SIS0t 4 A AS A 210,078 312,180 A102,102
O Yol =ZHIXIH 210,078
= 168,062
s 29,411
s 12,605
MASHOHR! &EHl & ZAH X 1,176 1,420 N244
= 583
=S 235
s 353
301 LEtE NS 1,176 1,420 avz7
= 583
= 235
[Ea 353
01 Al EE A S (2 RDEXA) 1,176 1,420 N244
O HieIsSSsAE Ns 1,176
= 588
= 235
o 353
0 201+ W 2,79 2,2% 504
= 2,239
= 224
= 336
301 EtE N = 2,79 2,295 504
= 2,239
= 224
s 336
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SA SIS
BH: HASHANSKE
EFPl: HOHQIMEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 2,79 2,2% 504
O Yol MEEXI|F w2 2,79
= 2,239
S 224
[Ea 336
Zoje! sXE=20 A 2,719,286 2,547,606 171,680
= 1,903,500
< 244,736
[Ea 571,050
308 XtXIEMSO0IH 2,719,286 2,547,606 171,680
= 1,903,500
=S 244,736
s 571,050
183 SIS U B 4 HASAIE 2,719,286 2,547,606 171,680
O ol K& 2,719,286
= 1,903,500
= 244,736
[Ea 571,050
o ESE2X IS0 57,282 72,068 N14,786
= 40,098
= 5,185
Ea 12,029
308 AtAIEHMSOIE 57,282 72,068 N14,786
= 40,098
= 5,15
= 12,029
18 SIS0t YA AS A 57,282 72,068 N14,786
O el gsAd st 57,282
= 40,098
= 5,155
s 12,029
LEHF2HESAHHIAXHA 289,006 294,987 A5,981
= 202,304
< 26,011
= 60,691
308 XXM SOIA 289,006 294,987 25,981
= 202,304
== 26,011
o 60,691
13 SI[2S0He 4 A AS A 289,006 294,987 25,981
O ZEHielF2HESAHIA 289,006
= 202,304
=S 26,011

- 319 -




2A:

X XH -
o=

Ar2l = X 2t

NASFHAASKA

EFPl: HOHQIMEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 60,691
g2edegditsasAEA XA 124,729 127,442 N2,713
= 87,310
= 11,226
Ea 26,193
308 AHAIEMSOIE 124,729 127,442 N2,713
= 87,310
= 11,226
= 26,193
18 SIS0t oA AS A 124,729 127,442 A2,713
O X Hu=8SAHIAXZ 124,729
= 87,310
< 11,226
s 26,193
LETHENEIA BIRH X 158,163 168,865 AT02
= 110,714
< 15,816
= 31,633
308 XtXIEMSO0IH 168,163 168,865 AT02
= 110,714
== 15,816
o 31,633
13 SI[2S0He 4 A AS A 158,163 168,865 AT02
O ZEMEAMHIA BI2H X2 158,163
= 110,714
=S 15,816
s 31,633
ZoHIL Rl XI& (SXLX2l) 207,290 175,472 31,818
= 103,640
= 41,460
o 62,190
307 @I2t01 & 207,290 175,472 31,818
= 103,640
= 41,460
Ea 62,190
1 AMEISXAIEEXS 207,290 175,472 31,818
O ZoHA LXK (SR LX) 207,290
= 103,640
= 41,460
= 62,190
o LT e K& (ML ML Rt2l) 650,600 634,354 16,246
= 325,290
= 130,130
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SA SIS
BH: HASHANSKE
el HOojelMsor™ X (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
[Ea 195,180
101 @1A4H| 648,295 632,107 16,188
= 324,148
= 129,659
= 194,488
04 JIZtNZ22 XS24+ 648,295 632,107 16,188
O ZoHe! Lot (M) dXtel At 648,295
= 324,148
S 129,659
= 194,488
201 Let=23 | 2,305 2,247 58
= 1,142
= 47
s 692
01 At2t2ltl 2,305 2,247 58
O Fojoletgdaiiel HRF8S st At
fES 7Y S 2,305
= 1,142
== 471
= 692
ZOHQI L K2l XI& (AIREMI Xt2l) 133,090 129,784 3,306
= 66,540
[ 26,620
T 39,930
101 @124H| 132,848 129,548 3,300
= 66,424
S 26,570
o 39,854
04 JIZtN2Z2 X SE+ 132,848 129,548 3,300
O ZOHR! AIZHA L XtelArd 132,848
= 66,424
S 26,570
o 39,854
201 =3 242 236 6
= 116
S 50
o 76
01 AtR2te|H] 242 236 6
O ZOHR! AlIZEHl £XieIA SBEFIS 2
St AIRES P8 S 242
= 116
S 50
o 76
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2A:
X XH -
o e

=aak

Ar2l = X 2t
NASFHAASKA
ZOHQI 2O X J

Ofl &F2H

MEE
Ofl &k2h

- SHRABA) - HRAY - BES
o4

M H

199,990
59,997
139,993

172,750

M

9,264
2,779
6,485

2,784

Mo

9,264
9,264
2,779
6,485

6,480

2,784

307 212t01™

M H

2,550
765
1,785

3,263

AT13

11 AR SX A 2=

O A& HAtu=

M

2,550
2,550

765
1,785

3,263

AT13

Mo

188,176
56,453
131,723

163,007

25,169

M H

188,176
188,176

56,453
131,723

163,007

25,169

HoH W

3,068,756
2,148,129
276,188
644,439

3,157,368

283,612

HH W

3,068,756
2,148,129
276,188
644,439

3,157,368

283,612

MW

3,068,756
3,068,756
2,148,129
276,188
644,439

3,157,368

283,612

MW

509,093
356,365
61,091
91,637

465,293

43,800

W

509,093
356,365

465,293

43,800
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SM: ABIZXID
M HASHAHSKH
CHol: EHQHOIAYSHOFR K| S (B2l E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 2 840
ZOHQI N MB NI RME X2 164,266 160,830 3,43
= 65,707
= 39,424
2 59,135
307 BI2t01 & 164,266 160,830 3,43
= 65,707
= 39,424
2 59,135
DT EEEETEES 164,266 160,830 3,43
O BSSHHQ NHSYEXNALE 2
1H 164,266, 0002 164,266
= 65,707
= 39,424
2 59,135
ZONQI N M NI RME ZIH22H| X2 (SH) 45,734 15,515 30,219
< 3,720
2 3,014
307 BI2t0| 45,734 15,515 30,219
= 13,720
2 3,014
10 ASIZ A S Y22 X 45,734 15,515 30,219
O ZOHARYMSIVHE EIHSHH| I
4,734, 0002 45,734
= 3,720
2 3,014
ZOHQ! GHOITHASIZD| X9 756 750 6
< 227
2 529
301 LHBHI 756 750 6
= 227
2 529
2 ASREEAFS(HAHNS, NLIHE) 756 750 6
O ZOHQ! GHOITHASZLI| X2
756,000 756
= 227
2 529
HMES FolSN SR ¥ES BIAN (SN 95,921 67,785 28,135
) At
< 19, 184
2 76,737
307 BI2t01 & 9,921 67,786 28,135
= 19, 184
2 76,737
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2A:
PSER
o e

el

Ar2l = X 2t
NASFHAASKA
OIS R ZHOHUAIE XIS

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

A H

245,000
980,000

M H

—_

,225,000
,225,000
245,000
980,000

—

1,139,000

86,000

M

273,622
54,725
218,897

253,493

307 212+01&

MO

273,622
54,725
218,897

253,493

20,129

273,622,000

M H

213,622

273,622
54,725
218,897

253,493

20,129

Mo W

2,551,882
1,786,317
153,113
612,452

2,204,449

347,433

307 212t01™

HoH W

2,551,882
1,786,317
153,113
612,452

2,204,449

347,433

10 MEISXAIEHE2EHIEX

O F0He HFAE 23

HH W

2,551,882
2,551,882
1,786,317
153,113
612,452

2,204,449

347,433

021
2
e
0z
g
=)
O
)
o
x
m
H0
02

M H

159,000
31,800
127,200

151,000

8,000

307 212t01™

M

159,000
31,800
127,200

151,000

8,000

O
0z
2
=
0z
L
=
O
=
0
[P
@
Mo
02

M

159,000
159,000

31,800
127,200

151,000

8,000

A H

146,000
29,200
116,800

142,000

4,000
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SA SIS
BH: HASHAHSKE
Rl ZOHRIEHH & EOHIAIE K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 146,000 142,000 4,000
= 29,200
= 116,800
10 Al SXAAEEHE2EHI2x 146,000 142,000 4,000
O el +=0SHUH 28 X3 146,000
= 29,200
o 116,800
ZOHQIHO ST ALY 106,890 89,376 17,514
< 28,862
[Ea 78,028
307 elztol & 106,890 61,392 45,498
& 28,862
= 78,028
10 Al SXAIEEHE2EHI 22X 106,890 61,392 45,498
O Zojel oML N2dH 2 X2
19H2:+106,890,000& 106,890
= 28,862
[Ea 78,028
OHASXAIE SAA SE+& 163,000 125,000 38,000
== 48,900
[Ea 114,100
307 212+01& 163,000 125,000 38,000
< 48,900
s 114,100
10 Al SXAEEHE2EHI2x 163,000 125,000 38,000
O HOHASXAIE SAHAL SE€+2 163,000
= 48,900
o 114,100
e ssdE1y 29 58,200 56,350 1,850
=S 5,820
s 52,380
307 @I2t01 & 58,200 56,350 1,850
< 5,820
[Ea 52,380
10 Al2IS XA EEE 22X 58,200 56,350 1,850
O 32l sS4ty 29
1IH2=%58,200,000& 58,200
= 5,820
= 52,380
ZOHRIAFAIE JISEL(EX) 64,644 0 64,644
= 32,322
= 22,625
= 9,697
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Ar2l = X 2t

HASH o5

A&

D ZOHQIEHH ¥ HOHRIAIZ X

SN - HE

SRAZ) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

402 SIZERHE0| M

HH W

64,644
32,322
22,625

9,697

190 264,644 ,0002

HH W

64,644

64,644
32,322
22,625

9,697

64,644

ZOHRIH=AIE CCTVEIEH] XI&A

A

223
67
156

380

N157

307 212t01™

M

223
67
156

380

A157

10 Al SXAEEHE 22X

O ZOHRIA==AIE CCTVEIEH] X2

111,500 #2CH

M

223

223
67
156

380

A157

A H

94,400
18,880
75,520

94,000

400

307 212told

M

94,400
18,880
75,520

94,000

400

EUNGE

94,400
94,400
18,880
75,520

94,000

400

M H

339,003
67,800
271,203

339,003

307 212t01™

A

339,003
67,800
271,203

339,003

10 Al SXIAIZEE 2

(]
(==}
O =24 24 X2

339,003,000

UMY

339,003

339,003
67,800
271,203

339,003

H

301,424
34,487

285,514

15,910
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FA ASIS
M NRAZA 2 245
=Rl AESAIEH X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 66,322 64,905 1,417
= 33, 161
== 13,265
[Ea 19,8%
03 M EHE2SHIEX 66,322 64,905 1,417
O THESAH ZOUI0IH 1248 X2 66,322
= 33,161
=S 13,265
s 19,8%
H=2SE NFSA 28 IS MHIA XJ(AlIZ) 2,652 2,976 A324
= 1,326
=S 530
i 7%
307 21201 & 2,652 2,976 N324
= 1,326
= 530
Ea 796
03 PIZHNEE 22X 2,652 2,976 A324
O XAESAHAF 282 X3 2,652
= 1,326
= 530
= 7%
OlSSASAIE 2,400 4,800 A2,400
301 EetE2 NS 2,400 4,800 22,400
11 #AIAHIXIE S 2,400 4,800 A2,400
O XESAH Z4X Ad|2d 2,400
MHees(AE =X 726,264 782,850 N\56,586
WA XIE 726,264 782,850 N\56,586
WA XIE 726,264 782,850 N56,586
701 JIEtRI HSHES 726,264 782,850 /56,586
01 JIEt=I AN ES 726,264 782,850 56,586
O A=3HSEIAHEES 726,264
HY2AHHI(AIZI=X) 350,739 214,039 136,700
= 14,790
[ 118,122
= 17,933
o 199,894
Jl=3H| 34,701 19,701 15,000
2AM J1=3H| 34,701 19,701 15,000
201 eer23y| 9,500 9,500 0
01 AtR2t2|HI 9,500 9,500 0
O FAJIE23Hl =48] 9,500
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M ARIZ

M Y RAZHI(AIZI=XI1L)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 5,401 5,401
01 2LHoIH 5,401 5,401
O Jl2gdR+ds ?is U0 5,401
203 HR=4Y] 4,800 4,800
M A2 LIFLI 4,800 4,800
O RA=ggF=4y| 400,000 12& 4,800
405 AtatE = 15,000 15,000
01 TR =S FSHI 15,000 15,000
O AR4 580 15,000,000 = 1CH 15,000
el 2| 316,038 194,338 121,700
= 14,790
[ 118,122
= 17,933
[Ea 165,193
SEAtAIZIIAL 124l X1 99,719 101,260 21,541
[ 34,728
o 64,991
101 21A4H| 89,717 86,423 3,294
[ 34,728
o 54,989
03 SRA(RIH )22 U2+ 89,717 86,423 3,294
O JlZs 2,363,0602 «2&«12& 56,714
= 28,357
= 28,357
O d2=¢ 2,363, 0603 x2& +25| #45% 4,254
= 2 er
Ea 2,127
O d0= 2,363,060 x2& +23]| *50% 4,721
[ 2,363
2 2,364
O Ae2242(ZHIFIHE)
20,0102 x2E+20A1 2+ 123 9,605
= 1,881
= 7,724
O FASAHI(ZHIFIE)
140,000 x2& * 122 3,360
O MHA+=E(ZHIFIH=2)
60,0002 x2& * 122 1,440
O teg(ZblIFoH2)
30,0008 x2& * 122 720
O FII250ta3(5E 01410012 (Z2HI =
H2) 50,0008 x2& 12 1,200
O SESIHI(ZHI=I1=)
2,363, 0603 x2& +22] 6% 5,672
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FA ASIS
M Y RAZHI(AIZI=XI1L)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HLMALI(ZUIEIE)
80,972,000& 2. 5% 2,025
4 HSFESS 10,002 14,837 N\4,835
04 SRA(RIH )22 BEE=RES S 10,002 14,837 A4,835
O 2LASEERU(ZHIFIR)
89,717,00021+4. 5% 4,038
O AH2(2H1%0+2)
89,717,000 +3.545% 3,181
O Lo QABHEI(ZHIFII2)
3,181,000&%12.81% 408
O DEEEI(ZHIFIHE)
89,717,000 *1.75% 1,571
O MHEEZ(ZHIFIIE)
89,717 ,000& +0.896% 804
colgdxiel & A ESKIAY 49,899 44,987 4,912
= 14,790
[ 5,916
T 29,193
101 @124H| 44,893 37,860 7,033
= 14,790
== 5,916
o 24,187
03 SRA(RIH )22 U2+ 44,893 37,860 7,033
O elgiiel &g el 44,893
-JlE2a(2%) 2,495,060« 1H 1201 = 29,941
= 14,790
== 5,916
o 9,235
-d2=g 2,495,060 x1H «50%*22] 2,4%
-d0= 2,495,060 1 +50%+22] 2,4%
—Al2te2f g
20,6102« 12 *10A12H+ 1200 2 2,474
-tE=g 20,0003 =28« 1201 2 480
- dASAH| 140,000 1= 1200 = 1,680
-t2l=g 30,0002 x1& 12042 360
- &I 20t (15E 01 4~20E012H)
80,0002 x 1+ 12042 960
-EEFIHI 2,495, 060 x1H «60%*2 2 2,99
aPSEY Eall 40,402,000 x1&*2.5% 1,011
M HA=RE=SS 5,006 7,127 A2,121
04 SR (RIH 22X BE=RES S 5,006 7127 A2,121
O =tgs 288 44,893,000& *4. 5% 2,021
O Add=28= 44,893,000 +3.545% 1,592
O oFIIeLEE=
1,592,0002 %12.81% 204
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SA: ASIZXID
. Y2 A (AL =X
chol: ol (ool )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O nNgsgx 44,893,000 *1.75% 786
O ¢tz 44,893,000 *0.896% 403
SHEO Z0He S=S oMo MHIAAMY 49,171 48,091 1,080
= 23,307
= 25,864
101 21244l 42,078 38,321 3,757
s 21,040
i 21,038
03 SR (RIAHL) 22X B4 42,078 38,321 3,757
O SHLO BOjO SZOHNEL0-I|23
2,313,0602 1P+ 122 27,757
= 13,879
i 13,878
O &z 2,313, 0603 * 1 50%+23] 2,314
s 1,157
= 1,157
O &03 2,313, 0603 * 1% +50%+23| 2,314
s 1,157
= 1,157
O Azte2fsY
19, 2002 *10Al 2tx1H* 123 2,304
= 1,152
i 1,152
O s 840
— Uit 40,0003 x1H* 123 480
s 240
= 240
| PIE 30,0003 x 1+ 12& 360
= 180
i 180
O Hugaly| 140,000& 1H + 122 1,680
s 840
i 840
O tol=¢ 30,0003 x 1Y« 12& 360
= 180
i 180
O &IIZ2EIHZ2 (10401 48~15E012H)
60,0003 x1H 123 720
s 360
= 360
O ZEFIHI 2,313, 0603 *1H +x60%+23| 2,776
= 1,388
= 1,388
O ™MLIM&H| 40,506,000& *2. 5% 1,013
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FA ASIS
M Y RAZHI(AIZI=XI1L)
s lIEE2ghl (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 507
s 506
202 04l 2,400 2,400 0
= 1,200
Ea 1,200
NETET 2,400 2,400 0
O STUHGHMAHIA =&
200,000& * 122 2,400
[ 1,200
o 1,200
04 HSRESS 4,693 7,370 N2,677
s 1,067
= 3,626
04 R (RIHA)22N BE=RES S 4,693 7,370 N2,677
O 4REE-2e2TEE
42,078,000& *4. 5% 1,8%4
[ 947
o 947
O dLLE= 42,078,000 +3.545% 1,492
[ 120
Ea 1,372
O oIeLEE=
1,492,0002%12.81% 192
O 1E28= 42,078,000& %1.75% 737
Otz 42,078,000 +0.896% 378
SIZE0 ZelAt 12 117,249 0 117,249
= 60,087
=S 12,017
s 45,145
101 ©1AH| 99,435 0 99,435
[ 49,064
= 10,172
[Ea 40,199
03 SRA(RIH )22 U2+ 99,435 0 99,435
O JleEs 2,493,060 «2F ~ 122 59,834
[ 49,064
= 10,172
o 598
O F2=€(zHIF2)
2,493, 0602 x2 & +50%*22] 4,987
O dou=(zZHI=t2)
2,493, 060 x2H x50%*22] 4,987
O ARRAZR+E(0AI12E) ZHIFIHE
21,0302 *20A| 2H2F 123 10,095
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FA ASIS
M Y RAZHI(AIZI=XI1L)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O XA+ (2HIEHE)
60,0002 x2& * 12 1,440
O FASAHI(ZHIFIIE)
140,000 %224 x 128 3,360
O HHRI+EH(RHIFIHR)
30,000 x2&* 122 720
O FII2EItAS(10E 0] &~15E 0184 (Z2HIF
otE) 60,0001 +22* 122 1,440
O HESIMHI(2YIFIHE)
2,493, 0602 x2 & +60%*22] 5,984
O MIHEHI(ZHI=IH2)
85,887,000 2. 5% 2,148
O Jt=E=E(2HIFH2) 4,440
— B A 40,0003~ 1 ~12& 480
-I= 20,0003 6 128 1,440
L PE 30,0002 x1& 122 360
L PE 70,0002 x 18 * 122 840
e P\ E! 110,000 x1&* 12 1,320
M A=FLSS 17,814 17,814
[ 11,023
= 1,845
= 4,946
04 R (RIHA)22N BE=RES S 17,814 17,814
O zug=sEge 99,435,0002 *4. 5% 4,475
= 3,580
< 672
s 223
O A28 = 99,435,000 *3.545% 3,525
= 2,820
== 529
T 176
O oIeLFE=
3,525,000&%12.81% 452
O N8=28s 99,435,000 *1.75% 1,741
Otz 99,435,000 *0.896% 891
O &&= 3,364,800 x2H 6,730
s 4,623
== 644
o 1,463
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